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Reading

Part [

% B9 % BB g iEEI_’-'j. ﬂ:g Et

Comprehension

Reading comprehension (35 minutes)

Directions: There are 4 reading passages in this part. Each passage is fol-

Example:

Question:

lowed by some questions or unfinished statements. For each of
them there are four choices marked A), B), C) and D). You
should decide om the best choice and mark the corresponding letter
on the Answer Sheet with a single line through the center .

Read the following passage.

Long before the Sioux migrated to the Dakotas form the east,
three sedentary tribes had settled along the Missouri River which bi-
sects the two States.

Of these, Mandans are believed to have arrived first, they once
occupied several villgaes of semisubterranean earth lodges in what’s
now South Dakota, but had moved farther morth when discovered
by the explorers, Lewis and Clark, in 1804. They were a Siouan

language group.

What is the main idea of this passage?

A) The difference between two States.

B) The great diversity among American Indians.
C) Lewis and Clark’s adventure.

D) The Introduction of Mandans.

The passage said that Mandans, one of the three Sioux tribes lived in
South Dakota, and moved farther north. There fore, you should choose an-

swer D).
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BEAEFREDELZABHATBAERIHMEZE, /M EBRECEEX S
I A% BT R o
LRI Y, Mandans A AR R P EAR, AT B LT HRER
IR 3T DB R A LR TR L BRTE 1804 FR B h 3T
PN B R LB, EBEEIHHT . I1R—1THiEK.

M EHRREMNEN—BIER, AAAIASEFRF, BRI 5ER
P T BBEERS, LA Rido B0 B i R B S et [e) 2 SR N G, A 2
AFEXRES RV BT R RS A AR, T E d R
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Q KREE, EBFEMNNENPLEE AENEEENMTEUK
XE FH R

@ WYR, AR BRE IS AT R B AR

@ BRHEEE, EAFARBALNERERHITES T R, R
JRE AL BRENNEES;

@ HBRRE , B ¥ A AR LENAR TS, SHBFE X REL
BEAHBERRRXR;

® 1B YEE L, EEFEREMNENMASEEETHHRES L.

TEQUR B AT, %Ejmﬁuiﬁﬂﬂgﬁﬁﬂf%u—f“ﬂﬁ

1. fed ik b MR R,

FESETEERBEREN, BN AR ERE—E, THREX
KE . EERFENEGHIIRT, £ BN S R85 EFP KL
A KA AL R, PR 5 BUERS R A T AR, W TE BT X
PBER AHLERERRTHET SR BHS XA FREZ PR,
XETLRESENEE. R EER, TEE - IR,
BB RS A AT 2 R SR P 4 SR AR R SCEE Hh 4R AR X BB ], R
xR, HIBIRE R E., B, 7 %M When Lloyd Nickson dies, he
will wF, BT LAFI 264837 Lioyd Nickson £ X E X MAHH
BT, B A R R, ERE R REZ AR T

2. AR XFHEME PG WEXFPRAXGET,
R SRR AR, B B e T IR E R R TR R MK
. 3 .
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BEEREXENTEANSLE T, REFESHRA, XENEENM
BB —MRTE R L MG RAL, BT UE A iR R B RS B E
TP KSR, — R AT TRARMEEAZRERER, THHT
RER , AR PR RE BB o B S SRR TS 1) 7E SC B AP 4R AR X R A 4015 1 )
5 A EEI AR B 2 JE B E IEF A R

3. BT BB R EGALEFER,

REBEREERSHEEAEXEPREERANER, SHTHER
W, FHAEFEH—TECHARMEL R, RRHEBE, FaXE
PEEEYRAMAE—BEN TR, Rt T4 8o nmT
all, any, every %if) —ftU A KAIREREHE R,

4. HpBMBFFBRAFRGEA,

XA AP, B Which of the following is true? HJ32/0], 7E B4 H%
[E1RE B B LA S35 P IR HERR K 48 X S AR AT RERY 8, BREBEMN— SR
RELAXEPRYEHEFETHX M F . R FE, a i HEEFH—
SR BEEES R EXERREEMMANE,

5. BXMHELLETHETXHEMR,

X F AR B , B AW R SO B R E & 7. WARIREGA, AT LA
R LT URMIA LR E R A KRR SRR N, 505 #7458 117 5%
B S A AR AT RS SR A X

B2, BEREENALIIN EFREY AR, FEEUEE, 2
BREREE . RMRE, Rl BB LRI — 7 mERE.L A Hit
£, BARIRBERETEN.
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[EEBH 1]

What has the telephone done to us, or for us, in the hundred years of its
existence? A few effects suggest themselves at once. It has saved lives by get-
ting rapid word of illness, injury, or fire from remote places. By joining with
the elevator to make possible the multi-story residence or Iffice building, it has
made possible-for better or worse-the modern city. By bringing about a great
leap in the speed and ease with which information moves from place to place, it
has greatly accelerated the rate of scientific and technological changes and
growth in industry. Beyond doubt it has seriously weakened if not killed the an-
cient art of letter writing. It has made living alone possible for persons with nor-
mal social impulses; by so doing, it has played a role in one of the greatest social
changes of this century, the breakup of the multi-generational household. It has
made the war chillingly more efficient than formerly. Perhaps, though not
provably(AIHESE ) ,it has prevented wars that might have arisen out of interna-
tional misunderstanding caused by wrtten communication. Or perhaps-again not
provably-by magnifying and extending irrational personal conflicts based on voice
contact, it has caused wars. Certainly it has extended the scope of human con-
flicts, since it impartially disseminates({&#% ) the useful knowledge of scientists

and the nonsense of the ignorant, the affection of the affectionate and malice

.5 .
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(GEE)of the malicious.

1. What is the main idea of this passage?
A) The telephone has helped to save people from illness and fire.
B) The telephone has helped to prevent wars and conflicts.
C) The telephone has made the modern city neither better nor worse.
D) The telephone has had positive as well as negative effects on us.
2. According to the passage, it is the telephone that
A) has made letter writing an art
B) has prevented wars by avoiding written communication
C) has made the world different from what it was
D) has caused wars by magnifying and extending human conflicts
3. The telephone has intensified conflicts among people because
A) it increases the danger of war
B) it provides services to both the good and the malicious
C) it makes distant communication easier
D) it breaks up the multi-generational household
4. The author describes the telephone as impartial because it
A) saves lives of people in renote places
B) enables people to lives along if they want to
C) spreads both love and ill will
D) replaces much written communication
5. The writer’s attitude towards the use of the telephone is

A) affectionate C) approving
B) disapproving D) neutral
[RICIEE]

D to suggest itself (themselves) & A“HBL(FE----- HR BT, #Eeee L),
An idea suggested itself. T 003K,
Two possibilities suggested to him at the moment.

Mz, hARD) TR A BB
@ to make something possible B to make possible sonething f& % FHH, B

e OB TATRET R R A0
. 6 .
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Nixon's new relationship with the chinese was made possible by the ending
of the Vietnam War.
B RS HER, R ST EARF R R BT EE,
Changes in the law will make it possible for men to stay at home to look after
young children.
BN NERE AERBE/NMLNBIE B TR,
@ bring about sonething B, bring sonething about &— 1% A& A, B E R
“GIE (RS EE) - (R AE) . e
The President will support any efforts to bring about a ceasefire.
RO M LA RBUE KIS S0
I don’t know what brought about the change in his thinking.
RAFE R 2 E5 08 E ERAE T EK,
@ beyond doubt X “ZTLEEM ", W
The truth of the story is beyond doubt.
XN EHELERAEEE,
I believe beyond any doubt that he will achieve success.

HEAM B E BEBR AL

[RBXE]
MEEEABRECHARFET , ERBERRIVM T L4, BRATH
kT M AW, FEERMERERN A THIE, FRASBEOR.M5.K
BN E LB RE, AR T AR B T HRIEMBE, AT LIS
BREREEMDL, BERR T — B AR RIS —IAR AT i
A B TRIERMER, FEERMERE, KRR TR EEM T LR,
BRGEN], BIGHER KRS T —mRARERT HIE—HEHNH
FEAR. BIAKNFAEER—EFFEFHOARKEREMAITTLIERE
F&  XHE—, ERM T AL e K — KRR LR K R EREA &
To REKERERRFHRRLUERER, S ARENR. 4%, 7
BERH bt — 26 i T BB E BERE PR RBM S KRS, FHERRE
it WFUESE s A ATRE, R GIRUESE , th T O Sk Hephnd gl 7 AFRiE) &
FREEMHR, BIETI R TR B, EMRAEHEEREXNER,
TRERIRE - ENRL, T EOER, SRRY KT ARHRHEE.
[ )
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[ ]
1. What is the main idea of this passage?
R CENLBERA A7
[D] The telephone has had positive as well as negative effects on us.
HLIEXT R AL A IE W XA R E .
2. According to the passage, it is the telephone that
R CE, B o
[C] has made the world different from what it was.
Y45t F 510 K KA—#.
(%K) FEHEF SR RANR, B LB ENER,
3. The telephone has intensified conflicts among people because o
HiECZME T ANZEpRERE R o
[B] it provides service to both the good and the malicious.
FLIEBE I AR5 O ARIEAR %5 o
4. The author describes the telephone as impartial because it
EEHRIERABR NMRAE HWEERE___ .
[C] spreads both love and ill will.
BEfe it k& N ERE.
(£ K] ALK - REFEXN S BE - NER, B RiE, EAmA
AR ERNES , RMENEE, CENELC, T HENEE,”
5. The writer's attitude towards the use of the telephone is
EENERRENSER_
[DIneutral FHEZEMRA .

[EEHEH 2]

To say that the child learns by imitation and that the way to teach is to set
a good example oversimplifies. No child imitates every action he sees. Some-
times, the example the parent wants him to follow is ignored while he takes
over contrary pattems from some other example. Therefore we must turn to a
more subtle theory than “Monkey see, monkey do.”

Look at it from the child’s point of view. Here he is in a new situation,

«+ 8 -
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lacking a ready response. He is seeking a response which will gain certain ends.
If he lacks a ready response for the situation, and cannot reason out what to do,
he observes a model who seems able to get the right result, The child looks for
an authority or expert who can show what to do.

There is a second element at work in this situation. The child may be able
to attain his immediate goal only to find that his method brings criticism from
people who observe him. When shouting across the house achieves his immedi-
ate end of delivering a message, he is told emphaticaly that such a racker (14
) is unpleasant, that he should walk into the next room and say his say quiet-
ly. Thus, the desire to solve any objective situation is iverlaid with the desire to
solve it properly. One of the early things the child learns is that he gets more af-
fection and approval when his parents like his response. Then other adults re-
ward some actions and criticize others. If ome is to maintain the support of oth-
ers and his own self-respect, he must adopt responses his social group approves.

In finding trial responses, the learner does not choose models at random.
He imitates the person who seems a good person to be like, rather than a person
whose social status he wishes to avoid. If the pupil wants to be a good violinist,
he will observe and try to copy the techniques of capable players, while some
other person may most influence his approach to books.

Admiration of one quality often leads us to admire a person as a whole, and
he becomes an identifying figure. We use some people as models over a wide
range of situations, imitating much that they do We learn that they are depend-
able and rewarding models because imitating them leads to success.

1. The statement that children learn by imitation is incomplete because

A) they only imitate authorities and experts

B) they are not willing to copy their parents

C) the process of identification has been ignored

D) the nature of their imitation as a form of behaviour has been neglected
2. For a child the first element in his learning by imitation is

A) the need to find an authority

B) the need to find a way to achieve the desired result
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C) the need for more affection from his parents
D) the desire to meet the standards of his social group
3. Apart from achieving his desired results, a child should also learn to

A) behave properly
B) attain his goal as soon as possible
C) show his affection for his parents
D) talk quietly
4. Children tend to imitate their models
A) who do not criticize them
B) who bring them unexpected rewards
C) whom they want to be like
D) whose social status is high
5. “An identifying figure”(Line 2, Para. 5)refers to a person
A) who serves as a model for Ithers
B) who is always successful
C) who can be depended upon
D) who has been rewarded for his success

[RCiEE]
@ Therefore we must turn to a more subtle theory than “Monkey see, monkey
do.”
FAE A EERNDIRE T BHEFE ERRRNEE.”
@ reason out B “HEISH WA 0
The workers have reasoned out that the real power is in their own hands.
TAfBEEE, EEMRUIEMITBE TP,
® at work BT BAETIER”, BRI KRR (N8 EBFE, ERER.
m: '
Several favourable factors have been at work in the past year.
B E—EFRILHAHER-EEREA.
@ say YEF& AR, Bl one’s say B, HE N EEME, BR "W
Let him finish his say.
i BIETE R ’
.10 -
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® at random BN FEfEH JEEH, 0.
You can choose any number at random.

YRAT AR fE (R 2 — 1518

[(REXE]

A RE—RIERILERME I T # T WBGE . XE—TF
BiE, OLBEE RO, B S LERN L IR EE LE
MRS XA AEEIEE T TRE, EAILEH AR EDN—
YIAT R AR Ak, TS WO S0 B B e B AR, 25 1) 55 — A
F—ERRMRMIT IR

MILERABRE , b TH & BR8E, BA BUAFH XS L A0, 1T ELAR
AHEE LI, TR R £ MM — AT LUk B R AR . L
E TR E AR LS FE AT EA R R ER, B, 85—
TRREREM:ILERER, UUGXE AT B AN ERAS, B A
B R T UL E S 2 BRI, X BB ERR, RMUE R
[, i B B BB N RE, R F BT AR B RAN TG A — &
WFTRE R BGITF, RMEBRHAM RN g A2 RE™, i
RS AL & BT E A SRR BT R R B 1T AL

A E IR S BRI, LEREFHERF AN, RN
BER— MU ER R A AR MERFHA . AR ME
FFMILER S ZWEMBOE A T H/MES WA h S 575, 75 1%
WX AR A — AR, IRERMR— A B2 LE
XA ERRZAETIE TRRARM—HEHA . AMIEESEREASE
FJ W T2 T E R, RN TE R AT R (ER %, B
IO &R B,

[T ]

1. The statement that chileren learn by imitation is incomplets becouse

REFIIERGREIRATEMER N o
[D]the nature of their imitation as a form of behaviour has been neglected.

BOEA—FIT R T AR R T .
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